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2. What will bo the area of the squara whose perimoter is 320m,
{a) 6500 m’ ¥ (b) 640 m®
(©) 6000 m* (@) 6400 mt
3 @+2%)x2 s equal o
@ 2 ) 2 (0 2 2z

4. 0.002 X 0,05 is equal to
(8) 0.00100 (b) 0.01000
(© 0.0001 () Noe of these

5. What is the value of x, if 30~ 3(x - 1) =
() 7 ) 6 © s @ 4




[image: image2.jpg]6. Find the perimeter of the adjoining figure which is a semicircle including its diamete
(Where 7= 3147)
_
0m
(@ 2 ® 20 m © 257m @ 207 m.
7 1 m = 2, what is tho valuo of dm = 2m - 7
@ o o)1 © 2 @ s
5. 651244 will be
(o) 1628 (b) 1.628 (@ 1628 (@) 1628
o Line a || b and ¢ is & transversal line, £y =
@) 55 ) 110 @ 15 (d) None of theso
10. - In the adjoining figure, find the value of x.
<
Q
A
@) 30 ) 60° © 10 (d) None of theso
0.8350.835%0.835 + 0.165%0.165%0.165
1. Simplify: e
0835x0.835-0835%0.165+0.165x0.165
W 1 2 © 3 @ 05
12 What is the value of n2 If 50 = 64
@ n=6 o=+ ©n=8 @n=12
18, Thie suin of (o nurabers is 20 & their difforonco is 10. Find the product of the two numbers.
() 60 ) 100 @ 7 W 80
14 Tivo mumbers are in the ratio of 3 : 1. If the sum of these two numbers is 440, find the numbers.
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15: 1 class s 20 boys & 0 girls Tho avorage g0 of Uh boys 13 12 yerm snd that of the girls is 11
years what is the average age of the swholy classs

(0) 114 yoars (6) 116 yoars (€) 112 yoars (d) 12 years

16. A man buys a toy for Rs. 25 and sells it for R,

30. Find his gain porcentage.
@ a0 ) 20%

() 10% (@) 10%

7. Which of the following venn diagram correctly reprosents Pt animals, Dog. Lion
® @ ®) OOO © @ @
18" ANAEMIA is related (0 “IRON" as ‘GOITRE s related to
() lodine (b) Blood (€) Woakness. (d) Vitamin
19. Which word cannot bo made from the word REASONABLE 7
(a) BRAIN {b) BONES. (c) NOBLE (d) ARSON

20, Which number is opposite to 97

() 3 (0
9 @) 10.(c) 111 12
17.) 8.  19.() 20 ()

7. 8 (o
(0 4@ 15 @) o160





